3rd order Bessel at 1.5MHz
Here are the targets, this will be a gain of 50 2nd order MFB followed by the real pole, 
[image: ]
Here is a solution for the MFB, tried to hold input R at 20ohm, could not – it was adjusting up for some reason, 
[image: ]
And then the post RC is just at 2MHz F-3dB, with the 1nF diff and 100pF to ground, the R’s become 33ohm
So here is the THS4541 modified to this design, about the same F-3dB. The only point here is to see if the integrated noise might be a little lower, 
[image: ]
And it is actually worse – due to inside the circuit noise gain peaking – so no, adding an MFB to this probably will not help – a lot of times the filter is more useful when you have frequency content in the source you might want to cut off, 
[image: ]
Check the transient anyway, Actually looks a little better, might have some room to slow this down and improve the noise, gains a little high to hit the Q and Fo closer, 
[image: ]
Re-run this at a 1.2MHz 3rd order Bessel target, 
[image: ]
Here is the design updated, looks right on 1.2Mhz, I did find where the min R’s were being set and fixed that for now to get a lower input R solution, 

[image: ]
Integrated noise, got the noise down, but still worse than the simple poles, 
[image: ]
Step response, 
Yes, it makes 5% in 400nsec, 
[bookmark: _GoBack][image: ]
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